EEBEE
TELY)
LR LAL2 LARL3 LRL4 LAJLS
Z BT & #w Al Bl BO® By #E m =
E B’
EE LT (B
T B £ I
& B i Hl m3 52
& B 18 R m3 28
* & * E Ok m3 21
ki 3 T B th m3 21
B R L L & A E K BEWFEIA L=2.5km m3 31
5 15 L EEEE m2 11
T K £ & I
HHRET
K wh2h0n" -+EHEI 11100 x 1100 m 3.0 | (EHRA. HL0)
Ry P ZAI8—k 1100 x 1100 X 1500 1@ 2 15 AT E
BIE7 IAFYVIEEERMBRT 218 ¢ 700 m 3.1 NEE2E
BILTSRFVIERE @ 700mm S EE2RE(JSWAS K-2)| & 1 4m/K
BAERIT BELED m3 4 3.5 m3
xR m3 4 3.5x1.2=4.2 m3
R — ME15cm X 50m 2f& m 3 3m
it = % % & # F a—F5 Ik ELi 2 MEET
LU X ¥ R b E KR 1340 x 1360 X 200 & 1 BREL (MHED)
X EBEaLHY—k 18-8-25 t=150mm m3 | 0.1 i T A OD LR
x ¥ m2| 0.3 "
X BEEILAL 1:3 t=20mm m3| 0.1 "
X EBRA RC-40 t=200mm m2 | 0.3 "




¥ EBE X
EEBEE
TELY)
LR LAL2 LARL3 LRL4 LAJLS
Z BT & #w Al Bl BO® By #E m =

T B B8 I
=TRAHE S LB IGEAH) H=2.5m m 3 THYEAIIRH=2.44m
-CAAES LB I(51HR) H=2.5m m 3 THYEAIIRH=2.44m
F~CAAE ST B T(E2AH) H=3.0m m 6 T HYEHIIRH=2.88m
-CAAES LB I(51HR) H=3.0m m 6 T HYEHIIRH=2.88m

#HHAE% (. A)

= GAHEA T BEMER HAB#S = 1 f A%k = A=23.46m2
- OAHEA T B ER EEERMEEES o 1 {1 FA%EA=23.46m2

BiFfTH KAy -+ T
= A 18-8-40BB m3 | 0.3
i ¥ T m?2 3

KET

K OB * I
i) Hl m3 8
1 R m3 3
¥ £ £ & W& m3 5
Eid & T B2 m3 5

K OB OFE B I
NV F T Y a— L BF 400%! m 0.4 |RBEER
B B 49 & @ &| EHVSEE400x500 m 6.0 |ERERE AR {0 -ICobHY
B B 49 & @ &| #HHVsEiE400x500 m 2.0 |ERRA ER- (N -ICobhY
A VMNEEREETVSAY L-FUY 400/, T-25, L=1.0m 2 3
g v — F v g & VS400f EHEH ] 1




* = /N
HEBREX
LTEBER
TERLY
LA LAJL2 LARIL3 LAR)L4 LARJLS
Z Bl @& iE Al oAl % Hi| #E wm =
IvR—I)LT
#HiIvrvhR—ILI
EBEH -HIWED
£ Xk #H E BE I 1000 x 1000 X 2400 = 1 INEID-HIEE E
RACREBHEIFLINFEDT
& 7K it 1000 X 1000 X 2400 = 1 6336kg 3 E|
2 #h IF £ L] W=30cm X ¢ 19mm & 1
. . i 1000 x 1000 T-25
9 L - F v M OB | maAREEE ZakE | 8 1
B * = ®900/600 H=110 #H 1
A B & a t=45 #H 1
B B 1) > g ®900 H=150 1@ 1 92kg
=8 B ®900 H=900 1@ 1 501ke
T& I
HEXKEEYMHREL
IvHY-r2RE R EEE Box. VS{Eli&. HP m3 1 1.41m3
£ X #H #® = I 1100 % 1100 X 700 m3 1 0.48m3
b & #% | 74-77vMEE (28Co) L=12.9km| m3 2 |1.41+0.10(¥& Y)=1.51m3
b B 8 | 74—779METE (BB Co) L=12.9km| m3 1 0. 48m3
1.41x2.5=3.53t
b pu n 2R &4 CO t 4.6 13.53+0.25(v& Y)=3.78t
= pul » # 5 CO m3 | 0.6 [0.48m3x2.35/1.8=0. 63m3
WO R BB I
& % ki 1] 33 t<15cm m 19 18.70
£ % kR w e t<{15cm t=5cm m2 65 65. 40
= & % |FEEE AsEHM L=7.4km| m3 3 3.217
& o 52 As m3| 4.2 4.18
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M EBLREBER
LTEBER
TEEZ4
LA LAJL2 LARIL3 LAR)L4 LARJLS
Z Bl #& iE Al oAl % Hi| #E 5
W X ®£ B T
TERBI (EE-KEM) t=25¢m, RC-40 m?2 61 60. 90
TERBI(EE-BEH) t=10cm, M-25 m?2 61 60. 90
BEZHEAs20F
*E(HEE-BE ) t=5cm, 1.4<B<3.0 m?2 61 60. 90
K B K I
MHE
B o X X B O® ZiE# B 1E30cm m 10 9.8m
B o X X OB O® ZiE# B 1g30cm m 260
&
Bd o X K OB OK REEV-YE 1820cm m 3 2.8m
Bd o X K OB OK REEV-YE 1820cm m 78
E ik E
& B #
= & # o & % EfREEsakm £ t 3.7
REEMoODIERA, RREIL A MEILHEES) t 3.7
Eigg&
B b I| W1.0xL1.5XH1.5m AR 4




T E £ # %
I FER - #E5I IR Tk BHi | #HE | BRiEEE BE
EEsT
[EET])
SRR BH 0.28 m3 52.0 52
BERIER BH 0.28 m3 28. 1 28
HETOS HEmFEA L=2. bkm m3 20.8 21
FAE T B T#TiH m3 20.8 21
HELEH HEFEIA L=2. bkm m3 31.2 31/28.1/0.9=31.2
1.54x3.2+1. 54 x
RgL Box+im EI 4R & %, S K #t m?2 11.3 11] 2.7+1.5x1.5=11.3
[HEKEREET]
& yhAan -FERET  |O1100% 1100 m 3.0 3.0
BiLT AFVIEREHRRT 2 ¢ 700 m 3.1 3.1
BERI iR m3 3.5 4
IHEREET 1360 x 1340 x 200 L34 1 1
HEEa oy )—+F
InERERT 18-8-25 m3 0.05 0.1
B m?2 0.29 0.3
BEILAI
1:3 m3 0.01 0.1
HEwa
RC-40 m?2 0. 31 0.3
Ry XAIIIN— k
EME 1100 x 1100 x 1500 {& 2 2NEAFLEAMAE
81b7" IAFVIEEE 218 6700 m 3.1 3.1
HEGIZE S — Figlbom 265 m 2.7 2.7
TBa—F2I#IT 03 2 2| SRS
TLx v X MEER b4 1 1| 1340 %1360 % 200
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I R - Rl ek~ iE B %E |[BEY¥E BE
EET&T
(ERLET])
BTAHESLE
H=2. 5m m 2.5 3 Fi4H=2. 44
H=3. Om m 6.0 6 TF4H=2. 88
A B %( 20R)
FGAHEATBHMEH| % 1 11 EA%EA=2346m2
TRAAEALTEEHER = 1 1| ERKEA=2346m2
(BBiFITHEka> s ) —H]
arvyo)—+F 18-8-40BB m3 0.3 0.3
R T m2 2.7 3




® ITEESABERIROEHOEH

ERARNo. | 18 | WES | WE | #L | ##co | FEF | maz Ez';fﬁ
FRP 715.38 | 713.152 0.014 0.10 2.34 2.44
FRP 715.35 | 712925 0.014 0.10 2.54
[J1100x1100| 715.35 | 712.811 0.130 0.020 0.150 0.200 3.04 2.93
" 71513 | 712.806 0.130 0.020 0.150 0.200 2.82




A B EEUHFER H =
& B E Al - FRP700
( 244 m - 005 m) x 15 m X 250 m = 8.96
FEHRHIR $HEE R HIE ZER
11100 x 1100
( 293 m - 005 m) x 27 m X 400 m = 31.10
FEHRHIR $HEE R HIE ZER
- Sk
( 282 m - 005 m) X 215 m X 200 m = 11.91
FEHIRHEIE $HEE R HIE ZER
INET = 51.97 520 m3
T RIEBERL - FRP700
( 244 m - 0.4 m) X 15 m = 3.06
F9IRHIR HEE R HIE
( 306 m2 - 1276 m2 )X 270 m = 482
TR
01100 x 1100 (F"y 9 Ahn—F)
( 293 m - 04 m) X 27 m = 6.83
EHIRHIR HERE R HINE
( 683 m2 - 2370 m2 )x 380 m = 16.95
EERELY 1123
ok #t
1191 m3 - 559 m3 = 6.32
M = 28.09 281 m3
[E1ERR]
BOX#ME - ( 1.100 m + 0.120 X 2 ) = 1.34
BOX{Zf& 1340 m X  1.340 = 1.80
FA%ECo 0020 m X 1340 = 003
HENE o ( 1.340 m + 0.100 x 2 ) = 1540
b 1.540 m  x( 0.150 + 0200 ) = 054
Co Ba
1.80 + 003 + 0.54 = 237
[ Sk piERR])
14 x 1.400 x 2.620 +
15 x 1.500 0.200 = 559
X £ N0 5 5197 m3 - 2809 m3 X 1/0.9 = 20.75 208 m3
KEEET
ERESREL O1100x 1100 (EEREHY. BV HY. ALIVHY) = 3.00 30 m
@I 2B
EKMBEETL 11000 X H2400 (6336kg) 345>Z| = 1 1 &
(FL¥+RE)
EH#E w30 = 6 6 &
AREERZTL - BIETSAFVIEREERTE) $700 = 3.10 31 m




A B EEUHFER B =
i E AR B & T 1340 x 1360 X 200 = 1 1 #&
HEEMHE
oL o1)—k 18-8-25 t=0.15 154 x0.15%0.20 0.05 m3
Eity i (1.54+ 0.20%2)x0.15 = 0.29 m2
HEEILLIL 1:3  t=0.02 154 x0.02x0.20 = 0.01 m3
HERE RC-40  t=0.2 154 %020 0.31 m2
8
BILTSAFVIEESE ¢700 HEDT28
310 m - 020 - 0.20 = 2.70 270 m
ke BoX
Im-YDOEBRNS
150 m x( 010 + 010 + 0728 + 020 )
TR AT
— 07282 x /4 = 128 m3/m
EHTER
HEiHE %
128 m3/m X 270 m = 345 35 m3
=1 ## 55
O1100x 1100  L=150m 1EMHFE #IFLnE = 2 2 &
BIETSRFVIEEE ¢ 700 = 3.10 31 m
HERIZH—F w=150 L=3.1-(0.20+0.20) = 2.70 27 m
SEEAR 1340 X 1360 X 200 = 1 1 @&
- TBa—F2UH FHE+FRA = 2 2 &
MHERER
SiEEEES (Q—F 2 TAFEEE 0.8%ke/L 214 kg/BFT
NYITYTH a0 2E:E 500 m/BEr
BRI BT FTRAHBERLES H=25m
250 m = 2.50 25 m
=CGAHEZ T ESD H=3.0m
400 m = 4.00 40 m
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174 x 1.560 - 1360 x 1.340 = 0.89
RyH 2o FiE+02x2 Ry R T3E+02 Ry R4k
0.89 x 0.300 = 0.27 0.3 m3
BE#H
T
156 x 2 x 0.30 + 089 x 2 = 2.72 27 m2
Ry 2 AR OE Ry A RDE
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® ALES % n 12 & Hl F E £ Al & E ANFLIZERR i Hl FHETHRL Kt =
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£ 3 £ =1 A 7 7o | R Y 2] 3 EOH= H= H= H=
o 5 B W ] B th i E 2.50 | 3.00 | 4.00 | 4.50
A B c D E F G H 1 J K L ! N 0 P Q R S T U H m m m m
X k7K - G=Ex |He L=Bx |M= N= 0=Nx [P=Nx |0= R= T= 0=
ﬁﬁ%’ﬁﬁ& (C+D) 0.3x2 | (F+6) E xH LK B ExMH| (d | 0-P A-P
=EZE /2 +F /2 -SEE)
BOX
FRP| sE/kit| iE%| 3.6) 3.6/ 250 2.34 254 244 1.50 1.50 SCTIE TBOREOAHRET Do 2.50 AsEzE
: EBEATTHE
BOX —|BE&X £RKBOMEHIE. T TKBITEHE
BOX| 4| box| 3.0/ 3.0 400 3.04 28 293 270 2.70| SHEEDBELEIAIL. (BT THE 4.00 AsihiE
sokmt| sokmt skl 200 2,000 2,00 2.82 2.82] 2.82] 2.15 2.15 2.00 AsghisE
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0 —RRAZ
BGALES T EOBEREAEAEER
BROGARES L BOH#K
BH.3#% 0.28m3~0.80m3
HH HiAT 15m 2.0m 2.5m 2.5m 2.5m 3.0m 3.0m 4.0m 4.5m 5.0m e
FEMETRL ¢ (IR TR ) 9.0 12.0 146 146 14.6 18.4 184 327 38.3 46.5
1. Bkl FRP BOX |4E/K#t
EHME d mm 728 1360 1400
HRHIE W m 1.50 2.70 2.15
IR H m 2.44 2.93 2.82
A h(H'=H-h) m 1.00 1.00 1.00
IR
Fikk m 0.28 0.28 0.28
S 2 7 R br 6.1 6.1 6.1
rNov oo —r
Hiks t 48~49| 48~49| 48~49
S 24 7 R br 538 538 538
2. R A ROEE
[ORREVINERG ST
FH T
RNyrRTO1H M=) OREIEE R Q m'/ A 59 59 59
1m0 DK+ V=H-W m’ 2.16 5.21 3.91
TEERLY L=QIV m/H 27.31 11.32 15.09
TROFETART
T Q A/10m 0.23 0.27 0.27
HOARILIABRIESE L=10m/Q m/H 43.48 37.04 37.04
Wt JEhlE T (iR RN & )
1m0 MR R V=(d+0.2)- W-d* = /4 m’ 0.976
S8R REED 13=(36 m3/H)/V mH 36.89
AR L MRS T
WIS TAT mH 33.33
RosAANA—R (A 1-14-D28) mH 6 0.33|— (H/35) LR FEA & e 1 -14-0-28
Sk - HEL T (BhR)
1mY 7= DHFELE V=W (H-d-0.2) m/m 0.768 2.281 3.162
s EEERED 15=(36 m3/H)/V m/H 46.88 15.78 11.39
Koo — ekt F/10m 0.14 0.16 0.16
BIEEER Le=10m/Q m/H 71.43 62.50 62.50
@30m 4720 DT H AL
il T. D, =30/L, H 1.10 2.65 1.99
HETART.GPLIAZESE) D,=30/L, H 0.69 0.81 0.81
AR T D,=30/L, H 0.81
AT D=30/L, H 0.90 5.00 0.33
Gl LT (Bk) Ds=30/Ls H 1.06 2.38 3.11
@FRH B
30m2Y4 70D EELH ¥
D=((D1+D2)%3/5+D3+D4%3/5+D5)%1.3 H 4.53 9.69 6.49
Fi B AL=30/D m/H 6.62 3.10 462
i TIER Lo m 2.50 4.00 2.00
i TAERA 32 80 H 8 DO=(D/30)+L.0 H 0.38 1.29 0.43 2.10
3
@18 Y 7= E i K O FES:
TR L=XLO 8.5
i Cifif a= X (H+LO) 23.46
IRFNAEREEL N=(L/30) 1
MESR n=1/2%(N+1) 1.0
FEHREIGE h=a/L 2.76 #  3.00
FEFIIHERYE  A=h#30%2%n 180 1 (S5029) IZRLill
R H=3.00 184 x 2t * 3.68
ELEEES
(BRI + 45 - VS 3 B 3 YO B 50 A =




K B £ F =
IiE FER - #5 AR i B | HE (HRERS jHES
KET

(kigtT]
1EAl BHO. 28 m3 1.9 8
BR BHO. 28 m3 3.0 3
FH &R HIEA m3 5.1 5| 460 /0.9 =5.1
FH 1+ Bih m3 5.1 5

[KEREET)
NUFIYa—L BF400 m 0.4 0.4 ErtHA
B HAREE 18 BT VSR %400 x 500 m 6.0 6. 0| ERFE . ERE- (U -+ odH Y

HEETVS{EI#E400 x 500 m 2.0 2.0\ ERFE . ERE- (N -+ Cod Y

EME
NUFT)a—L BF400 m 0.4 0.4
1T VSIS 400 x 500 m 6.0 6.0
" VMEEREBTVSAY L-FV9 |400/, T-25. L=1.0m| %K 3.0 Kkid=]
it FAVSELE 400 x 500 m 2.0 2.0
VSRY L—F V& 400M. T-25, L=1.0m| #X 1 1




EoOA R E U ERK B 2
T B O Al - BF400DE AT
095 x ( 044 - 0.05 ) = 0.37 m2
HIEDIE+0.2% 2
- FEERVS{EIi#E400 x 500
123 x ( 086 - 0.05 ) = 1.00 m2
HEDIE+0.2x 2 HBTHOHETET
- HitETVS{AI#E400 x 500
118 x ( 082 - 0.05 ) = 0.91 m2
HEDIE+0.2x 2 HBTHOHEETET
EHEEE  ER
037 X 0.35 = 0.13
100 x 6.00 = 5.98
091 X 2.00 = 1.82
INET
= 7.92 79 m3
T K ERL « RUFTY)21—1400
003m2 x 035 m = 0.01
- HEERVs{AIi#E400 x 500
026 m2 X 600 m = 1.56
- ftwTVs{AliE400 x 500
024 m2 X 600 m = 1.44
INEE 3.01 30 m3
¥ &£ L+ E #k 792 m3 - 301 = 458 46 m3
K EET
BE Bk <1 Ly B + RUFT1)21—L1400 (EHRA., ABELALBY) = 0.35 04 m
104
- EREPAR (RC-40) = 0.55 m3
- FEMTVs{AliE400 x 500 (BRERA. &£#aY) = 6.00 6.0 m
104
- EREPAR (RC-40) = 0.83 m3
- H#Eav9)-(18-8-25BB) = 0.73 m3
- {unN'=bav9)-+(18-8-25BB) = 0.20 m3
- {fifkrVs{aliE400 x 500 (BHERAR. £#aY) = 2.00 20 m
104Y
- EBEA (RC-40) = 0.78 m3
- HEW#a3v9)-+(18-8-25BB) = 0.41 m3
- {unN'=bav9)-+(18-8-25BB) = 0.20 m3
15 # ] + RUFIYa—L 400 = 0.35 04 m
- FEMTVSHAIE400 % 500 = 6.00 6.0 m
- WINEEERSL—FoS iiE = 3 3
- HEETVSHAIE 400 % 500 = 2.00 20 m
s JL—FUJE(EER) = 1 1




T vihk =)L &

ito®

I FERI - #A RkTE B HE  KREHRE HE
TUR—ILL
(#8317 > R—IL])
5 K #1000 x 1000 x 2400 = 1 116,336 kg 39 =
E BB A t=20cm, RGC-40 m3 0.45 0.5
No. 28 &8¢
EHETEY W=30cm & 1 11 6+5=11
1000 x 1000 T-25 3%5A
TJL—Fo5FdE | ALRBE Ak | 4 1 1
JavY . E ZRE
BHF=| 9900/600 H=110 & 1 1
RAELE H= 45 #8 1 1
REY VY ®©900 H=150 & 1 1
EEE ®900 H=900 & 1 1
BEH 0B
BEMAOLIE 2RE m3 0.10 0.1
B ER 2:kCo m3 0.14 1.0/ 0.1x2.5/1.8=0.14m3
B 22%Co t 0.25 0.3 0.1x2.5=0.25t




7oAl BEE U ERK B =
$HIvR—ILT
EXRKMEBEETL ZL ¥ Xk 1000 % 1000 X H2400 W=6,336kg 35 Z| = 1 1 #
RBEMTEY W=30cm = 6 6 &
TL—FUHETE 1000 1000 T-25 FLAALTEE SHAH2HE = 1 1 4
Dnyy. & 2HE
[MAZER]
- BFE ¢$900/600 H= 110 = 1 1 &
- AE£E H= 45 = 1 1 #
- HEYLY ®900 H= 150 = 1 1 @
.- A ®900 H= 900 = 1 1 @
- BENTEY W=30cm = 5 5 &
FRAE HIFLT
BEAHNIE
KR V= 0.81X0.81X T X1/4%0.2 = 0.10 01 m3




Tt & I & =
IiE 2RI - #5 ARt ik By | HE = =
FTHT

(SR RREE R T ]

5% it As m3 3.27 3.3

s As m3 4.18 4.2

S AR ) B t<15¢m m 18.70 19

R R t<{15cm  t=bcm m2 65. 40 65

(SHEEIET]

TRERRE®ETL

(& - BE ) t=25cm, RC-40 m2 60. 90 61

EERET

(& - BEE) t=10cm, M-25 m2 60. 90 61

RE (HE-BEH) t=bcm, 1.4<B<3.0 m2 60. 90 61|54 % #i EEAs20F
(XE#RT]

AR X E R FEHE B 1E30cm | m 9.8 10

AR X ER RER-IE 1@20cm  m 2.8 3

(HEKBEMEET]
" yhawn - MEBE 400 x 400 m 6.00 .00 V= 0.54 m3
BHARAERE VSl 300 x 300 m 2.00 .00 = 0.18m3
ERWETL HP400 m 12.45 .45 = 0.60m3
WH-P2RE S ESET Box, VSEAIE. HP m3 1. 41 1|5 V=0. 54+0. 18+0. 60+0. 09=1. 41m
SEXRMEBET 1100 x 1100 x 700 = 1.00 1 = 0.48m3
BB it 2:RkCo  T4-77yMEE | m3 1.41 4

BB it #|fHCo  T4-77yMERE  m3 0.48 0.48

s 2R %4 fC0 t 3.53 3.5/W=1.41x2.5= 3.53 t
s # £ C0 m3 0.63 0.6/V=0.48x2.35/1.8=0.63 t




7oAl B EE U E K #Hn =
AEBEFEREY
SRR T t= 005 m
% pE % 6540 m2 x 005 m 3.27 33 m3
=
% an o 3.27 x 23 / 18 418 42 m3
wOE U M 18.7 19 m
KA ETERLY
% R W R AfREEFEmR LY
65.4
N E 65.4 65 m?2
SHEEIET AMHETFERELY
TERBI t= 025 m RC-40
(EE-KBE) 60.90 61 m2
rE R ®BEI t= 010 m M-25
(EE-KBE) 60.90 61 m2
x* B I t= 005 m BEZHEAS20F
(EE- KB ER) 60.90 61 m2




7oAl B EE U E K B =
BEYEET
R I RBNN - MEE 0400 x 400
L= 6.0 = 6.00 600 m
B OE & = + VS{li# 300x 300
L= 200 = 2.00 200 m
BF400
L= 1.70 = 1.70 170 m
T E W %= HP400
L= 565 + 6.80 = 1245 1245 m
£ Kk ¥ = 1100 X 1100 X 700
= 1 1
% B £ T &7k #8 (1100 X 1100 X 700 B¥/E=150
N ow L H
125 X 125 X 0.85
N w H H
- 11 x 1.1 x 0.7 = 0.48 m3
|HI ) —b INET 0.48 048 m3
+[0400 X 400 (K99 RDILN—F)
N ow H
( 05 X 0.5
N~1w H
- 04 x 0.4 )X 6.00 = 0.54 m3
-VS{AliE 300 x 300
N ow H
( 045 x 0.435
N~ w H
- 030 x 0.35 )yx 200 = 0.18 m3
-BF400
005 X 1.7 = 0.09 m3
-HP400
( 047 x 047 - 0.40 x 0.4
1% RE
x T o+ 4 X 12.45 = 0.60 m3
2R ECo INE 1.41 141 m3
mOE i T RETERLC 048 + 1.41 = 1.89 189 m2




R 5% # & =
i 2 w | LT a5t
E | gametaon | 268 2,680
& T R t
iz
B2 I % M t
#r = t
2 % R t
&t 3.680
& BABSTEOHH t 3.680 3.680
il I R t
B’
g I 2 M t
1 = t
1 % R t
i t 3.680
AN =
= =]

7.360
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BEERB—F 150(mm) X 50(m) 2f& LETF/KEHA & R Rl i
il BEEM
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EEMim BREEH
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R R By A ft B #t C #t 5 F £ {ff FES
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ARyHAAIL =R (100X 1100 X 1500 AFLAMT) & BiRffit
BA—14r TR (Hk) #ERIR

TL v AMHEHR (1340 X 1360 X 200) ¢ IR
BA—14r TR (Hk) FERIR

HEMEEBRFIEQ—FJIE) 2.14ke/ BT G RIEM@E
BA—14 T 2w o(kE) (BR)RoTY
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